Scribe Notes 11.16.2009

SOLUTION FOR CAKE PROBLEM

Cake problem!

First choice: she can choose x (the larger choice) and not have a choice next time, or 1-x (the smaller choice) and be able to choose first the next time.

x>1/2>1-x [x is larger piece for 1st choice]

x/\1-x

1+(1-x)

x+1/2

2x=1.5

X=.75

Answer: 1.25

Or… Like Luna&Lindsey, you can assume that they’re kids! :] .51/.49. She chooses .51. He cuts 1/0, chooses the 1. Ends with 1.49.

On Wednesday, we will have a little quiz similar to this ^ so study kiddos.

ORACLE PROBLEM

Z=54.54

Q=36.36

S=72.73

$291.91 total

FOR WEDNESDAY 11/18: Coach’s problem, McCarthy Chapter

FOR NEXT WEDNESDAY 11/25: Game. Suggestions: drawing, maze, text editor, board game

Then we finished the class by going over a couple more therapeutic ELIZA programs. 

